Please tell me whether I got the (A) – (E) parts correct. My answers are circled.

And please show me how to do the surface charge density parts (F) – (I). Thanks.

P.S. There are two more pages below.

For this diagram:
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[image: image2.jpg]There are two thick conducting spherical shells concentric with one another. The inner
shell has inner radius a and outer radius 5. The outer shell has inner radius ¢ and outer
radius d. There is a positive point charge g at the center of the shells. The inner shell has
an excess charge +(0; and the outer shell has an excess charge -(Q,. Starting with Gauss’

Law find the electric field as a function of 7 for: -
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[image: image3.jpg](F) What is the surface charge density on the inner surface of the inner shell (at » =
a)?

(G) What is the surface charge density on the outer surface of the inner shell (at » =
b)?

(H) What is the surface charge density on the inner surface of the outer shell (at » =
c)?

(I) What is the surface charge density on the outer surface of the outer shell (at » =

day?




